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9.-(4: 5'- pts) A firm produces three components; A 10, B10, and C10. Moving two units bf'AI'O-éi“" 5
I$ equivalent to moving on B10. The departments are arranged in a linear flow Lo
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Q (51‘.9'(5] A firm produces three components; A10, B10, and C10. Moving two units of A10 or four units ¢
is GQL:IWEIIEHT to moving on B10. The departments are arranged in a linear flow pattern in the order AiMJ v
the distance between the departments (Pickup/Delivery at midpoints) = 40 ft. > fo
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Q (6: pts) Three criteria A to C are used to evaluate the alternative designs 1, 2, and 3 based on the
criterion (largest percentage). Identify the important criterion and jetermine the best design.
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| Q1 (8 points) Please fill in the missing terms or phrases in the blank.
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Flows can be measured =\ AGH -l\!—(-;- using the closeness relationship values.
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'I'I1e‘ﬁ-—q-§'~'-\’ﬁ-‘\-}—«' ----- is used to develop a work schedule for the facilities design effort.
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3. Reducing the flow density threugh containerization results in minimizing J‘ﬂ/}‘d&—-/—acﬁ&-#
4. The flow within -4-€05€£-- department typically occurs between workstations and aisles.
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In the pull production system, the -f 'Jan)mfk{-tﬁ-_ i used to authorize the production of more compor

assemblies. Can)
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6. The subjects of the ’*--&S‘Pﬁf--fMMMﬂ%--g are the materials, parts, and supplies purchased by a fin
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required for the production of its product.

7. An important consideration in the —{--1b-‘~=z-—-}@;}f-’m’.§lr_\r_- departments is the location of the pickup and

stations,
lo = 74

8. Ifthe largest lpad is between 6 and 12 fi2, the aisle allowance percentage is

g_uf_fli_i‘!mmu]d be designe;j{?gximize operator safety, comfort, and productivity.
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10. The resources of the AL 0o S clude the manufacturing, assembly, and storage de u—::nﬂf-_u-.

11. If the product is large and awkward to 1 AR
When both variety and volume ar ow. the preferred layout should be-gi-XQJ-- Io. ation I*vﬂ i

' Jyot
13. The principle of (g ﬂ&l-—g'-\- ﬂwludes the elimination of the traveled distance.

14. Increased work in process is one Thijtation of the ——ﬁﬁiyﬁﬁz} ------- layout. .
15. For Lodugdol planning department, all the workstations required 10 produce the product depa

combined.

16. If the —?gw gf f;f{‘s/ﬁgm a manufacturing facility is to be the subject of the flow, then the flo
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17. Two depariments cannot be placed adjacent 10 cach other with a relationship value 0
nsists of three machines:d ft <12 ft, The total area require

18. A planning department ¢0
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nove. the type of the planning department should beA-*
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During one 10-hour shift. 10 })S} T
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utes. Beca , ¢ parts are desired from fahricatinn
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Q3 (4 pts) Cases of the product are conveyed to a palletizer, which has to be programmed by an of
pallet loads are completed before the palletizer has to be reprogrammed; reprogramming reg
palletizer operates automatically for 40 minutes. The operator must restock the machine wit empty
done at any time during the last 10 minutes of the palletizer's run time; restocking pallets re uires
time between palletizers, plus data entry in the computer by the operator, requires 3 minutes. . .
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- What is the ideal number of palletizers = 3--22 B,//" _.

B s /
™ = Cart)
(m_} k)

|y
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